Frac-Dec-L1 Setl!

Question 1 [25 marks] Question 2 [25 marks]

O:%:.5 0:1%:.6
2= p S =
2 %: 2.1%:
3 %: 3.1%:
$ 5= w5 =
5 10 5 =
6 %: 6 %:
7 %: 7:@2
8 %: 8 %:
o 3= M
10:%:— 10;%:
11:%:— 11;%:
12:%:— 12:%:
13:%:— 13:%:
14:%:— 14;%:
15:%:— 15:1%:
16:%2— 16:%:
mE=__ 17 =
18:%:— 18:%:
19:%:— 19:%:
20:%:— 20:%:
21:%:— 21;%:
22:%:— 22:%:
23:%:— 23:1%:
24:%:— 24;%:
25 %: 25 %:
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Question 3  [25 marks] Question 4  [25 marks]

0:1102.7 0:1%:.9
2= L=
2 5= 2 8 =
5 k= 5 2=
§ 2= i 10 =
5 %: 5 %:
6 %: 6 %:
7 E: 7:@2
8 %: 8 %:
9 %: 9 %:
w0 = 10: o5 =
11:%:— 11;%:
12:%:— 12:%:
13:%:— 13:1%:
14:%2 14:%2
15:%:— 15:%:
16:%:— 16:%:
o= 1 &=
18:%:— 18:%:
19:%:— 19:%:
20:%:— 20:%:
21:%: 21:%:
22:%:— 22:%:
23:%:— 23:1%:
24:%2— 24:%2
25 10 = 25: 10 =
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Question 5 [25 marks] Question 6 [25 marks]

O:%:.?) 0:%:.8
k= L=
2 8 = 2 2=
5 8= 5 k=
4 %: 4;%:
5 %: 5 1%:
o L= o 2=
7 E: 7:@2
s 10 5 2=
o I = o & =
10:%:— 10:%:
11:%: 11:1%:
12:%:— 12:%:
13:%:— 13:%:
14:%2 14:%2
15:%:— 15:1%:
16:%:— 16:%:
17:%:— 17:%2
18:%:— 18:1%:
19:%:— 19:%:
20:%:— 20:%:
21:%:— 21;%:
22:%:— 22:%:
23:%:— 23:%:
24:%:— 24;%:
25 %: 25 1%:
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Question 7 [25 marks] Question 8 [25 marks]

0:11*02.]. 0:1%:.6
1 %: 1 %:
AT % g =
3 %: 3:%:
v 5= w5 =
5 16 = 5 8=
6 12 = o B =
7 %: 7:%:
s 3= s
o 3 = o 12 =
10:%:— 10:%:
11:%: 11;%:
12:}—8:— 12:%:
13:%:— 13;%:
14:%:— 14;%:
15:%8:— 15:1%:
16:%2— 16:%:
o d=_ 0 1 2=
18:%:— 18:%:
19:%:— 19;%:
20:%:— 20:%:
21:%:— 21;%:
22:%:— 22:%:
23:%:— 23:%:
24:%:— 24;%:
25 %: 25 %:
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Question 9

25 marks|

Question 10

25 marks|

0: % 1.1 0: % = .2
i o L
% 35 2 15
3: % 3: %
4 35 1
5 15 % 10
6: % 6: %
" 30 "3
8: % 8: %
9: % 9: %
10: % 10: %
11: % 11: %
12: % 12: %
13: % 13: %
14: % 14: %
15: % 15: %
16: % 16: 1%
17 = 1 =
18: % 18: %
19: % 19: %
20: % 20: %
21: % 21: %
22: % 22: 1%
23: % 23: %
24: % 24: %
25: %(5) 25: %
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Question 11 |25 marks] Question 12 [25 marks]

O:%:.6 0%:14
. .
2 5= o I =
3%:— 3:1%:
4 %: 4;%:
5%:_ 5;%:
6 %: 6:%:
7%:— 7:%:
8%(6):— 8:%:
9%:— 9:%:
10:%:— 10:1%:
11:%:— 11:%:
12:%:— 12:%:
13:%:— 13:%:
14:T1():— 14:%2
15:%:— 15:%:
16:%:— 16:%:
m2=_ 1 &=
18:%:— 18:%:
19:%:— 19:%:
20:%:— 20:%:
21:%:— 21;%:
22:%:— 22;%:
23:%:— 23:%:
24:%2— 24:1%2
25 %:— 25:%:

026 7 September 2014 6
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Question 13 |25 marks] Question 14 |25 marks]

0: % = 5.62 0: % = 5.12
1: % = 1: % =
2 120 2 B8
3: % = @ 3: % =
4: % = 4: % =
5: % = 5: 71i07 =
o 2T = o 830 —
7 % = 7. i’éig =
8: % = 8: % =
9: % = 9: % =
10: % =____ 10: % =
11: % = __ 000000 11: % =
12: % - 12: % =
13: % = 13: % =
14: % =__ @@ 14: % =
15: % - 15: % =
16: % = 16: % =
17: % = @@ 17: % =
18: % = 18: % =
19: % = 19: % =
20: %Z) = @ 20: % =
21: % = 21: % =
22: % - 292 % =
23: 91%5 = 23: % =
24: % = @@ 24: % =
25: % = 25: % =

026 7 September 2014 7
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Question 15 |25 marks] Question 16 |25 marks]

0: 325 = 9.51 0: 22 =538
T 52
O 2 10 =
3 %:— 3;%:
p 4 8
5 %:— 5;%:
6 %:— 6:%:
7 %:— 7;%:
8:%:— 8:%:
9 %:— 9;%:
10:%:— 10;%:
11:%:— 11;%:
12:%:— 12;%:
13:%:— 13;%:
14:%:— 14;%:
15:%:— 15;%:
16:%:— 16:%:
17:%:— 17;%:
18:%:— 18:%:
19:%:— 19;%:
20:%:— 20;%:
21:%:— 21:%:
22:%:— 22:%:
23:%:— 23:%:
24:%:— 24;%:
25:%:— 25:%:
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Question 17 |25 marks] Question 18 [25 marks]

o: 198 = 7.08 0: 40— 9.40
1 %:— 1:%:
o 2 B
3%:— 3;%:
4%:— 4:%:
5%:— 5:%:
6%:— 6:%:
7%:— 7;%:
8%:— 8:%:
9%:— 9;%:
10:%:— 10;%:
11:%:— 11:%:
12:%:— 12:%:
13:%:— 13:%:
14:%:— 14:%:
15:%:— 15;%:
16:%:— 16:%:
17:%:— 17;%:
18:%:— 18:%:
19:%:— 19:%:
20:%:— 20;%:
21:%:— 21:%:
22:%:— 22:%:
23:%:— 23:%_
24:%:— 24;%:
25:%:— 25;%:

026 7 September 2014 9
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Question 19 |25 marks] Question 20 |25 marks]
0: qoses = 03912 0: T2 = 70.06
L T L, 6766 _
10000 100
2: % = 2: % =
3: 8452 _ 3: 5306 _
100 10000
4: % = 4: % =
5. D701 _ 5. 3168
1000 100000
6 Gy = 5 Toooos =
7 % = 7 Zl%% =
8: % = 8: % =
9: % = 9: % =
10: % = 10: % =
11: 3140—9(? = 11: 1104% =
12 G5y = 12 Too00 =
13 To0000 = E
- 288 = 72 =
15 To0000 = 15 o0 =
16: % = 16: % =
17: % = 17: %9)7 =
18: % = 18: % =
19: 7}783 = 19: % =
20: % = 20: % =
21: To0005 = 21: Sg° =
22: % = 22: % =
2: 355 = 2% 00000 =
24: % = 24: % =
2: S50 = 25: o000 =
026 7 September 2014 10
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Question 21 |25 marks] Question 22 |25 marks]
0: spo = 9130 0: 1983 — 4,983
1. 8946 _ 1o 3974
1000 10000
5 9830 _ 5, 3653 _
100000 100000
3: % = 3: % =
s .
5: % = 5: % =
6 2393 — 6: o007 —
100 100000
7 % = T % =
g 1608 _ g 6045 _
100000 10
% oy = s
10: % = 10: % =
11: % = 11: % =
12 Joo0s = 12 50000 =
13: % = 13: % =
145 Tot005 = 14: 3505 =
15 T00000 = 15 000 =
16: % = 16: % =
17: % = 17: %(2)7 =
18 T00000 = 18 355 =
19: % = 19: % =
20: % = 20: % =
. 8 .
22: % = 22: % =
23: % = 23: % =
24: % = 24: % =
25: % = 25: % =
026 7 September 2014 11
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Question 23

25 marks]

Question 24

25 marks|

6165 _ 7945
0: Th005 = .6165 0: S = 794.5
L 1302 _ L, 3884 _
© 1000 — © 1000 —

9105 _ 4376 _
2 9 — 2 1000 —
5 4164 _ g 296 _
C 00 T * 100000 —
4 9404 _ 4 2063 _
© 1000 — 100000
376 _ 8164 _
5 o000 — 5 oo —
9060 _ L aa12 _
6 Jo0 — 6 o9 =
S 7015 S 6209 _
© 10000 100000
o 8399 _ o 9480 _
10000 — © 1000 —
9266 _ 7337 _
9% g = 9% Too0 —
aT72 890 _
10: {5000 — 10: 95000 =
5679 _ 9720 _
H: 960000 = T
9279 _ 3533 _
12: 96000 — 12: 95000 =
2437 _ 3197 _
B =5 = 13: 15000 —
3469 1958
14 960000 — 14 96000 —
2878 _ 8760 __
15 Jg00 = T
4556 1003 _
16: {5000 — 16: = =
8186 BST
172 960000 — 172 150000 —
8809 _ 635
18: =y = 18: 6000 —
882 4307 _
19: 9000 — 19: 95000 =
2267 7225
202 100000 — 20: 95000 —
8291 _ 7760
T 2L 10000 —
849 2775
22 100000 — T
4764 856 _
23 10000 — 23 000 —
3886 _ 3542 _
24 10000 — T
7120 5184 _
25: 100000 — T
026 7 September 2014 12
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Question 25 |25 marks] Question 26 |25 marks]

0 1:% 0: 4:§
7= 4=
2. .3 = 2 1=
3 .2 = 3. .0 =
4: 6= 4 .5 =
5 .7 = 5 .0 =
6: .8 = 6. T =
7. T = 7 1=
8 9= 8 4=
9. .7T= 9: .3 =
0 1=_ 10: .6 =
m 6=_ 11: .6 =
12 7= 12: .8 =
13 6= 13: .0 =
4 8=__ 14: .8 =
B 8=_ 15: .8 =
6 2=__ 16: .4 =
1w 8= 17: .9 =
18 8=_ 18 .7 =
19 3=_ 19: .1 =
200 9=__ 20: .8 =
200 3= _ 21: .1 =
22 (T =_ 22: .7 =
23 O=_ 23: 1.0 =
2% OD=__ 24: .6 =
25 8=__ 25: .1 =

026 7 September 2014 13
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Question 27 |25 marks] Question 28 |25 marks]

4 1
0: 825 0: 1:E
1: 4:— 1: 8:
2. .6 = 2. 4=
4: 7 = 4 .8 =
5. .9 = 5. .0 =
6: .7 = 6: .6 =
7 1: 7. 102
8 .3 = 8 .6 =
0 .5=_ 10: .D =
m 4=_ 1: .9 =
12 9=__ 12: .7 =
13 2=_ 13: .7 =
4 4=_ 14: .8 =
5 9=_ 15: .2 =
6 10=__ 16: .9 =
17 2=_ 17 .7 =
18 (= 18 .7 =
19910=___ 19: .3 =
20 10=___ 20: .9 =
ot 1= 21: b=
2 4=_ 22: .8 =
23 8=_ 23: . =
24 8= _ 24: .9 =
25 8=_ 25 .3 =

026 7 September 2014 1
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Question 29 |25 marks] Question 30 [25 marks]

0 9:% 0 2:%
1 1.0 = 1 1.0 =
2 4= 2: 1.0 =
3 .2 = 3. .0 =
4 4= 4: .8 =
5 .6 = 5 .2 =
6: .8 = 6: .6 =
7.9 = 7. .6 =
8 .0 = 8 .2 =
9: .9 = 9: 1.0 =
0:10=___ 10: .8 =
m 8=__ 1: .9 =
12 1=_ 12: .8 =
13 6= 13: .2 =
4 1=___ 14: .6 =
6= 15 .3 =
6 9=__ 16: .3 =
1w 6= 17 7 =
18 H=_ 18: .2 =
190 5=__ 19: .8 =
200 1.0=__ 20: .1 =
21: 1.0= 21: .1 =
22 6=__ 22: O =
23 8=_ 23: .6 =
2% 6=__ 24: .9 =
25 9=__ 25: .8 =

026 7 September 2014 15
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Question 31 |25 marks] Question 32 |25 marks]

0. 1.6 = 1% 0. 1.6 = 1%
. l=_ 4=
2. 1.7 = 9 5 =
3: 1.6 = 3. .1 =
4 2= 4 1.8 =
5 .4 = 5 1.6 =
6: 1.8=__ 6: .7 =
72 15=_ 7.9 =
8: 1.1 = 8 4=
9: 1.6 = 9: 2.0 =
0 6= 10: .8 =
m 2=___ 1: 1.1 =
122 0= 12: 1.1 =
13 18=__ 13: 1.3 =
4 8=__ 14: 1.0 =
5 3= 15: 2.0 =
6 1.7=__ 16: 1.9 =
17:20=___ 17 7 =
18 H=_ 18: .2 =
19:18=___ 19: .3 =
200 4=_ 20: .9 =
21: 20 = 21: 1.3 =
220 2=__ 22: .1 =
23 1.0=__ 23: 1.7 =
24: 1.9=__ 24: .8 =
25 1=_ 25 1.4 =

026 7 September 2014 16
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Question 33 |25 marks] Question 34 |25 marks]

0: .42% 0: 1.1:1%
Lo=_ 1.7 =
2. .6 = 2. 1.8 =
3 1.9 = 3 .6 =
4 7 = 4 3=
51 l=___ 5 1.3 =
6: 1.8§=___ 6: 1.9 =
nld=_ 7. 1=
8 .8 = 8 .1 =
9: 1.2 = 9: 1.2 =
w0 1.7=_ 10: 1.8 =
1 1.7=_ 1: 1.1 =
12 2= 12: .9 =
13:10=___ 13: 1.7 =
14 1.0=___ 14: 1.5 =
5 4= 15: 1.6 =
6: 14d=__ 16: .8 =
1w 6= 17 14 =
18 20=___ 18: .8 =
19:13=___ 19: .5 =
200 1.O=__ 20: .6 =
21: 1l=__ 21: 4 =
22 4=_ 22: .7 =
23: 20 = 23: .7 =
%4 N =____ 24: .9 =
250 D=_ 25: .9 =

026 7 September 2014 17
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Question 35 |25 marks] Question 36 |25 marks]

0: 1.5:1% 0.6:%
9=_ 1=
2 2=__ 2. .6 =
3 10=__ 3.7 =
40 2= 4: 1.3 =
515=___ 5 .9 =
6: 1.8§=___ 6: .8 =
7212=_ 7. 1.9 =
8 1.2=___ 8: 1.3 =
9 O0=_ 9: 1.0 =
0 14d=_ 10: .8 =
i = 1: .8 =
12 13=__ 12: .7 =
13:12=_ 13: .7 =
4 6=__ 14: 4=
5 2=_ 15: 1.1 =
6: 1.6 =___ 16: 1.7 =
7w 2=_ 1 4 =
18 18=_ 18: .6 =
19 14d=_ 19: 1.5 =
200 6= 20: .9 =
21: 1.8 = 21: .3 =
22 4=_ 22: 1.7 =
23: 20 = 23: 1.1 =
2%4: 1.8=_ 24: 1.1 =
25: 1.7T=___ 25: .3 =

026 7 September 2014 18
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Question 37 |25 marks] Question 38 |25 marks]

0: 4.84 = 4% 0: 04.6 = 54%
78T = 1: .H6 =
2064=___ 2: 62.6 =
319=___ 3 8.16 =
4. 60=__ 4: .62 =
5194=__ 5 H5.46 =
6: 6.67T=__ 6: 68.4 =
72430 = 7. 6.94 =
8 418=__ 8 H.15 =
9370=___ 9: 3.00 =
10: 851 = 10: .47 =
m: 15 1l=_ 11: 94.5 =
122903 = 12: 1.20 =
13: 722=__ 13: 61.5 =
14: 394 =__ 14: 6.5 =
5: 211 = 15: 1.62 =
16: 866 =__ 16: 1.47 =
17: 84 =__ 17: 92.9 =
18 1.8 =___ 18: 7.07 =
19: 192 =_ 19: 1.33 =
20 634 =__ 20: 36.8 =
20: 7711 = 21: 7.8 =
22 684=__ 22: 2.45 =
23 795 =__ 23: 96.7 =
24: 096 =__ 24: 5.04 =
25: 181 = 25: 3.06 =

026 7 September 2014 19
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Question 39 |25 marks] Question 40 [25 marks]

0 12 = 0: 6.93 = 615
87T = 1: 4.56 =
2 176=___ 2. 34.3 =
32979=___ 3 2.06 =
4 706 =__ 4: 92.8 =
5 45=_ 5 2.63 =
6: 0.8 =__ 6: 9.44 =
72 178 = 7. 36.4 =
8 009 =___ 8: 20.8 =
9: 248 =__ 9: 6.79 =
10: 885 =__ 10: 41.3 =
1m: 622=___ 11: 3.01 =
122313 = 12: 189 =
13: 7.32=___ 13: 63.0 =
14 424 =__ 14: 12.7 =
5:371=___ 15: 26.3 =
6 A7T=___ 16: 99.2 =
17: 960 = 17: 25.0 =
18940 =___ 18: 4.0 =
9 137=____ 19: 80.1 =
200 772 =__ 20: .22 =
21: 307 = 21: .67 =
22 6,30 = 22: .77 =
23 463 =_ 23: 8.3 =
2%: 214 =__ 24: 3.22 =
25: 240 = 25: 47.5 =

026 7 September 2014 20
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Question 41 |25 marks] Question 42 |25 marks]

0: 6.9 = 6% 0: 88.4 = 88%
:21=_ 1 2.75 =
2693=__ 2: 8.75 =
3 0= 3 1.67 =
4.220=__ 4: 2.04 =
5929=__ 5 81.8 =
6: 999=___ 6: 93.6 =
7. 424=__ 7. 88.2 =
8 632=___ 8: 4.87 =
9. 903=__ 9: 19.0 =
10: 333=__ 10: 76.5 =
1m: 918 = 11: 20.0 =
122900= 12: 15.6 =
13: 427 = 13: 1.07 =
14: 300 = 14: 9.50 =
15: 03 7= 15: .47 =
16: 276 = 16: 6.98 =
m 56=___ 17: 19.1 =
18 596=___ 18: 65.7 =
19: 270 = 19: 1.32 =
200 61l =__ 20: 83.2 =
21: 833 = 21: 6.48 =
22 786 =__ 22: 8.97 =
23 466 =__ 23: 6.2 =
2: 692 =__ 24: 8.63 =
25: 36.7=__ 25: 3.96 =

026 7 September 2014 21
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Question 43 |25 marks] Question 44 |25 marks]

0: 9224 = 922% 0: 224.8 = 224%
. 00074 =_ 1: 5.601 =
2 7764=____ 2: .9367 =
3:2:808=___ 3. 1.555 =
4: 5846 =__ 4: 9.112 =
5 9890 =___ 5. .09419 =
6: 02344 = 6: 261.5 =
7...00926 = 7. 305.1 =
8309 =___ 8: .01517 =
9457 =__ 9: 93.34 =
10: 883.1=__ 10: 08725 =
1m: 08830 = 11: .9079 =
122 3981=___ 12: .03302 =
13 .02122 = 13: .07218 =
14: 8472 = __ 14: 755.0 =
15 11.67T=__ 15: 71.39 =
6: 9802 =_ 16: .5963 =
17 00176 = 17: 9.814 =
18 0430 = 18: 925.8 =
19: 03418 =__ 19: .03084 =
20: 0790 = 20: .817 =
21: 4682 =__ 21: .1629 =
222 2984 = 22: 25.24 =
23: 9609 = 23: 24.9 =
24: 00386 =__ 24: 336.5 =
25: 160l = 25: .0182 =

026 7 September 2014 22
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Question 45 |25 marks] Question 46 |25 marks]

0. 1.212 = 1% 0: 91.92 = 91%
1 00958 = 1: 6.183 =
26143=__ 2: .01928 =
3.63=__ 3. .06220 =
46197=_ 4:.9955 =
5 7300 =____ 5 66.80 =
6: .00456 =__ 6: 16.96 =
74144 =__ 7. .0009 =
8 3911l=__ 8: 40.73 =
9. 0772 =_ 9: 24.42 =
10: 2316=___ 10: 3.536 =
1m: 2908 = 11: .08285 =
12: 868.7=__ 12: 732.7 =
13: 00784 = 13: .04997 =
14: 81714 =__ 14: 2784 =
15: 8992 =__ 15: .7645 =
16: 3429 = 16: .495 =
17 H01d=_ 17: 866.0 =
18 7902 =___ 18: 941.8 =
19: 842 =__ 19: 560.6 =
20: .02091 = 20: 38.77 =
21: 5.032 = 21: 7073 =
22 7952 =__ 22: 74.25 =
23 2742 = 23: .3002 =
2% 643 =_ 24: 30.79 =
25: 1032 =__ 25: .09106 =

026 7 September 2014 23
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Question 47 |25 marks] Question 48 [25 marks]

0: .5262 = £54 0: 19.89 = 1975
. .0451l=__ 1: 63.84 =
29.7T=____ 2: .2130 =
3.0309 = 3 8.052 =
4: 338 =__ 4:.04035 =
5 9798 =_ 5 434.4 =
6: 38 =__ 6: 1.014 =
73807 = 7. .7966 =
8 08793 =_ 8 Hll.b =
9. .0906 = 9: .02338 =
10: 2641 =_ 10: .6781 =
1: 1658 = 11: 57.92 =
1202639 = 12: .00188 =
13: 2805 = 13: 9717 =
14: 1226 = _ 14: .00006 =
15: 304.7= 15: 10.39 =
16: 6985 =___ 16: 05797 =
17: 4149 =__ 17: 75.7 =
18 3088 =___ 18: .09735 =
19: 9795 =__ 19: .3503 =
200 3.00d = 20: .02552 =
21: 3.3bd = 21: 489.8 =
222 07701l = 22: 2.37 =
23: 6695 =_ 23: .02334 =
24: 5959 =__ 24: 7.098 =
25 .09466 = 25: .05357 =

026 7 September 2014 24



